LQs

A=05

A=1.0

A=15

A=20

A=72
Initial events 100.00+0.00 | 100.00+0.00 | 100.00=£0.00 | 100.0040.00 | 100.004
Trigger 92.98+0.03 65.984+0.05 28.17+0.05 25.07+0.04 23.23+
pTss > 200 GeV 86.02+0.03 | 54.19+0.05 | 21.374+0.04 | 18.254+0.04 | 16.49+
HT"® > 200 GeV 83.5040.04 50.3540.05 19.25+0.04 16.154+0.04 14.41+
Hy > 300 GeV 82.73+0.04 | 47.03+£0.05 | 17.294+0.04 | 14.14+0.03 | 12.36+
#1=1 10.51+£0.03 5.6540.02 2.024+0.01 1.58+0.01 1.35
#e+tp=0 9.14+0.03 4.88+0.02 1.734+0.01 1.344+0.01 1.15
mt(Th, p7°*°) > 300 GeV | 4.13+0.02 2.05+0.01 0.7140.01 0.5340.01 0.44 4
# top candidates > 1 3.4440.02 1.684+0.01 0.57+0.01 0.41+0.01 0.354(
#bjets > 1 2.584+0.02 1.25+0.01 0.424-0.01 0.3140.01 0.26(
LQy k=1 A=10 A=15 A=20 A=25
Initial events 100.00+0.00 | 100.00+0.00 | 100.00-£0.00 | 100.0040.00
Trigger 88.33+0.03 63.214+0.05 22.52+0.04 18.12+0.04
pTss > 200 GeV 77.86+0.04 | 50.63+0.05 | 16.53+0.04 | 12.5540.03
HT"s > 200 GeV 74.75+0.04 | 47.5940.05 15.25+0.04 11.39+0.03
Hy > 300 GeV 74.50+0.04 | 47.16+0.05 | 15.05+0.04 | 11.17+0.03
#1,=1 23.1540.04 14.66+0.04 4.6410.02 3.4240.02
#etu=0 16.14+0.04 | 10.2240.03 3.23+0.02 2.40+0.02
mt(Th, p*°) > 300 GeV | 7.79£0.03 4.714+0.02 1.444+0.01 1.02+0.01
# top candidates > 1 6.50+0.03 3.89+0.02 1.184+0.01 0.83+0.01
#bjets > 1 4.884+0.02 2.9240.02 0.8840.01 0.6240.01
LQy k=0 A=15 A=20 A=25
Initial events 100.00+0.00 | 100.00+£0.00 | 100.0040.00
Trigger 50.44+0.05 17.45+0.04 15.83+0.04
prss > 200 GeV 36.11+0.05 | 11.31+0.03 9.76+0.03
HP"s > 200 GeV 32.96+0.05 | 10.05+0.03 8.5610.03
Hr > 300 GeV 32.40+0.05 9.811+0.03 8.324+0.03
#1=1 10.26+£0.03 3.1040.02 2.611+0.02
#et+tu=0 7.154+0.03 2.16+0.01 1.8340.01
mt(Th, p°) > 300 GeV | 3.29+0.02 0.9140.01 0.7240.01
# top candidates > 1 2.66+0.02 0.73+0.01 0.56+0.01
#bjets > 1 2.01£0.01 0.54+0.01 0.424-0.01




